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QUESTION 1

What is a characteristic of a volume sweep?

A. Initialization is done on specific volumes in a Consistency Group.
B. Initialization is done on all volumes in a Consistency Group.

C. A volume sweep occurs when a user enables a disabled volume.
D. A volume sweep occurs when a user enables a disabled splitter.

Correct Answer: A

QUESTION 2

When determining the journal volume size, which parameters must be considered?
A. Rate of change Data set to be replicated Number of snapshots to retain

B. Rate of change Percentage of sequential writes RPO/RTO

C. Number of snapshots to retain Rate of change Consistency Group type

D. Number of Consistency Groups RPO/RTO Network type

Correct Answer: A

QUESTION 3

A company has a RecoverPoint cluster in a remote replication environment that has several Consistency Groups. The
Consistency Groups are constantly going into High Load. After reviewing the Unisphere for RecoverPoint event log, you
see the following event:

Journal is unable to handle the incoming data rate

What should you review to identify the problem?

A. Storage array performance of the remote site

B. Storage array performance of the source site

C. WAN link utilization

D. RecoverPoint appliance performance of the source site

Correct Answer: A

QUESTION 4
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A Consistency Group consists of one production copy, one local copy, and two remote copies. How many journals are
required for this configuration?

A. Four in total
B. Two in total
C. One for each remote copy and one for the local copy
D. One for the production and one for each remote copy

Correct Answer: A

QUESTION 5

A customer is installing a single cluster RecoverPoint/SE environment and has decided to create a cluster of six virtual
RPAs to perform RecoverPoint operations.

According to EMC best practices, how many ESX hosts are needed to host the required vVRPAs?
A2
B.3
C. 4
D.6

Correct Answer: D
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